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BUSINESS, ACCOUNTING AND FINANCIAL STUDIES  PAPER 1A 
Accounting Module 

 
Part A 
1.D  2.D  3.D  4.D  5.C  6.A  7.B  8.A  9.B  10.B  
11.B  12.B  13.A  14.B 15.A  16.C  17.C  18.D  19.D  20.B  
21.C  22.D  23.A 
 
Part B 
1. No need to share profit with partners (2) 

Complete control on business decision (2) 
 Any reasonable answer  
 
2.(a)NPV of Machine A=250000/1.1+150000/1.1-150000-200000/1.1=$31819 (2) 
NPV of Machine B=220000/1.1+110000/1.21-300000 
=-$9091(1) 
 
(b)Machine A (1) 
 
3a.Autocratic 
 
3b.Democratic(1)encourage innovation(2) 
 
3c. Risking taking and Creativity (2) 
Any reasonable answer  
 
4.a Limited liability and high continuity (3) 
- Any reasonable answer 
 
b. Regular employee training and strict supplier selection (4) 
- Any reasonable answer 
  
5.-Enter overseas markets to expand business (1) 
-Global Sourcing(1) 
- Any reasonable answer 
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1.D  2.D  3.D  4.D  5.C  6.A  7.B  8.A  9.B  10.B  
11.B  12.B  13.A  14.B 15.A  16.C  17.C  18.D  19.D  20.B  
21.C  22.D  23.A 
 
 

 
1. - (2) 

- (2) 
-  

 
2. (A) A =250000/1.1+150000/1.1-150000-200000/1.1=$31819 (2) 

B =220000/1.1+110000/1.21-300000 
=-$9091(1) 
 
(B) A (1) 
 
3.a (1) 
3.b (2) 
3.c (2) 
 
4.a (3) 
-  
 
b (4) 
-  
 
 
5. - (1) 
- (1) 
-  
 
 
 


